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Introduction

Oure x ami neports barmre produced to offer constructive feed
examinations. They provide useful guidance for future candidates.

The reports wild.l include a gener al commentary on cC .
examined in the questions and highlight good performance and where performance could be improved.

A selection of candidate answers is also provided. The reports will also explain aspects which caused

difficulty and why the difficulties arose, whether through a lack of knowledge, poor examination

technique, or any other identifiable and explainable reason.

Where overall performance on a question/question part was considered good, with no particular areas to
highlight, these questions have not been included in the report.

A full copy of the question paper and the mark scheme can be downloaded from OCR.
Advance Information for Summer 2022 assessments

To support student revision, advance information was published about the focus of exams for Summer
2022 assessments. Advance information was available for most GCSE, AS and A Level subjects, Core
Maths, FSMQ, and Cambridge Nationals Information Technologies. You can find more information on
our website.

Would you prefer a Word version?
Did you know that you can save this PDF as a Word file using Acrobat Professional?
Simply click on File > Export to and select Microsoft Word

(If you have opened this PDF in your browser you will need to save it first. Simply right click anywhere on
the page and select Save as . . . to save the PDF. Then open the PDF in Acrobat Professional.)

If you do not have access to Acrobat Professional there are a number of free applications available that
will also convert PDF to Word (search for PDF to Word converter).
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Paper 1 series overview

This paper is the first of 3 papers for the GCSE Mathematics Foundation level.

This paper expects candidates to use a calculator; many candidates who did not made arithmetic errors
often on relatively simple calculations.

Responses that required a written statement to justify or explain situations often did not score due to a
lack of understanding of the question or language skills. Candidates need to work out the nature of the
response required and write concisely.

Candidates generally scored well on the early low mark questions i averages and range, types of
number, angles, calculator use. Some scored close to full marks on the first eight questions.

Some missed straightforward marks on graph work due to inaccurate plotting of points, drawing of
curves, and not using a sharpened pencil. A minority tried drawing a curve with a ruler.

Handwriting was generally legible but on occasion, some answers were difficult to read.

Challenging topics included error bounds, areas and volumes (use of given formulae), vectors,
factorising, ratio problems, percentages, inequalities and multi-step calculations.

Candidates need to be aware of whether their answers are reasonable or not, in the context of the
question. For example, in Question 14 (a), 3000kg was sometimes given for the weight of a turkey.

While many longer answers were clearly set out, others lacked organisation and clarity.

Candidates who did well on this paper Candidates who did less well on this paper

generally did the following: generally did the following:

1 attempted all the questions 1 did not pick up key points and information
from the questions often using values given in
a variety of arithmetic operations without fully
understanding what was required

1 presented work in a clear, structured manner
and logical way leading to their solutions
especially in the longer questions and those
which required 6corr e|f didnotalways use a calculator; instead they
marks often used inefficient non-calculator methods

I demonstrated good calculator skills leading to arithmetic errors

9 did not use given formulae, either from the
formulae sheet (e.g. area of circle) or from the
question (e.g. volume)

1 wrote figures and symbols clearly and
unambiguously.

i did not show their working clearly when
required.
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Question 1 (a)

1 (a) Write down the mathematical name of this polygon.

Candidates generally identified the polygon correctly, with a wide variety of different spellings. Where
incorrect, candidates mostly gave the name of a different polygon; hexagon and pentagon being the
most common.

Question 1 (b)

(b) How many edges does a cube have?

Although correct answers were seen, 8 was a common error.
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Question 2 (a)
2 Hereis a list of numbers.

6 9 2 12 3 8 3

(@) Write down the mode.

Examinersd eport

Candidates generally did well on this question. However, common errors were finding the mean, median

and range.

Question 2 (b)
(b) Work out the range.

This part was not as well done as part (a). Occasionally candidates subtracted 3 from 6 (being the first
and last numbers in the list) but this was uncommon. The most common error was missing the 2 as the
lowest number and subtracting 3 from 12 to give an answer of 9.

© OCR 2022
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Question 3 (a)

3 The diagram shows a pair of parallel lines.

ﬂb Not to scale

(a) Write down the value of a.

Responses showed a good level of understanding across the whole ability range. The two most common
errors were to either transpose the answers to (a) and (b) or to give both angles as 70° due to some
confusion between alternate and corresponding angles. Some gave the angle at (a) as 120° showing
that they had used a protr act oO®nlyd smlpnunber oftdiageam$i n o

were annotated.

Question 3 (b)

(b) Write down the value of b.

) T [1]
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Question 4

4 Jamie has some empty boxes.
Each box can hold 73 pencils.
Jamie has 590 pencils.

Jamie says that eight boxes are needed to hold all of the pencils.

Is Jamie correct?
You must show your working.

A large majority of candidates were able to score M1 having applied a correct method. Many candidates
were then able to interpret their answer correctly and score both marks. However some did not gain the
second mark due to an incomplete explanation,e.g. i No, beZXxau8& e= 75840 witho
figures to boxes or pencils.

ut
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Question 5

5 This graph shows the number of mobile phones sold by a shop in June, July and August.

A
90_ ....... ......... ........ ........ ......... ........ ........ ........

0T [ENUE SRR SO NN S SN M N M S SO SO SO
(] R - et e O I N~
IR I —— RS RO T S - — -

Numberof — sod—i ... SN U SRR SOV SO IOV U SO W
mobile phones
SOId 40- ....... ., ........................ ........ . ........ . ................

30 {RRRCREERRS]. . [ AR TR SN T S . -
20 froe USRS S S S - -
154+ ........ ........................ ........ ......... ........ ................
104+ ........................ ........ ........ ................

Candidates who gave accepted responses generally identified the width difference, or noticed the scale
changed from 5s to 10s, although many stated the graph axis did not start at 0. Some candidates did not
read the question properly and discussed what they saw as problems with the experiment, for example
60t he shop isndébt open the same | ength every mont
phone not being named, the fact that only 3 months were on the graph or stated that the graph did not
have a title.
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Question 6 (a)

6 Ashley has these three number tiles.

2] |3

(a) Which one of Ashley’s tiles shows a cube number?
Write the number on the blank tile on the answer line.

The majority of candidates had 8 as the cube number and scored the mark.

Question 6 (b)

(b) Write down a two-digit prime number that can be made using two of Ashley’s tiles.

Many correctly stated either 23 or 83. Some misread the question and tried to make a calculation using
the digits which resulted in a prime number, e.g. 3 + 8 = 11.
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Question 6 (c)

(c) Write down the three-digit number closest to 300 that can be made using all three of Ashley’s
tiles.

A very small number showed working to determine which value was closer to 300 (283 or 328). A small
number of candidates used digits other than 2, 3 and 8.

Question 7 (a)
7 (a) Simplify.

t+ 5t —4t

This was generally answered well. Many candidates identified like terms correctly and followed addition

and subtraction rules for combining these. The most common error was to only collect the positive terms
resulting in an answer of 6t1 t.4
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Question 7 (b)

(b) Factorise.

2
X +2x

Many correct answers were seen. Some candidates did not identify the common factor. For those who
did attempt factorisation, the most common error was trying to factorise into two brackets.

Question 8

8 Write the following in order of size, smallest first.

g =00 s
52.9% 1000 7 0.5209

smallest

Candidates who converted the values to a comparable form often gained both marks. However the
common error was not writing pﬁxto at least 4 decimal places, leading to confusion when comparing to

52.9%. Many candidates scored 1 mark for three values in the correct order.
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Exemplar 1

The work is clearly set out showing the values converted to a comparable form and correctly ordered on
the answer line.

Question 9

9 Apattern is made out of blue tiles and yellow tiles.
% of the tiles are blue.

There are 36 yellow tiles.

Work out the total number of tiles.

This question proved to be one of the least accessible on the paper. Few established that yellow made
up two thirds of the tiles and equated 18 to 1/3. The most common response was a value of 12 (from 36
+ 3) followed by 36 + 12 = 48.
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